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Fundamental Theorem of calculus — Part 2
Evaluate each of the following integrals, if possible. If it is not possible clearly explain why it is not

possible to evaluate the integral.

1. 6 2. 1
f 122° — 922 + 2dx f 522 — 72+ 3dz
1 9
3. 0 4. 4 g
f 15w — 13w? + wdw f 219t
3 1 t
5. 2 3/ 6 4
1 z2 1 . 1
— + — dz b2ty —d
/: Tz il 223 ,/:21: T 22
7. -1 8. 1 2 3 _ 6 2
f 2% (3 —4z) dz f y—gy dy
4 2 Yy
9. 10.

f; 7sin(t) — 2cos(t) dt

0

11. z 12. 2 1
2 _ e’ + dz
ﬁ 2sec” (w) — 8 csc(w) cot(w) dw j; 22 1

13. —2 9 14. 16 gt
) —

v
/’

www.mathssupport.org



http://www.mathssupport.org/

